Pre-Calculus Worksheet

Name:  ______________________
#16 Polar Coordinates





1.
Graph and label each point.
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State three other pairs of polar coordinates for each point where 
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.  Show work.
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State three other pairs of polar coordinates for each point where 
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.  Show work.
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A point in polar coordinates is given.  Convert the point to rectangular coordinates.  Show work.
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Use a calculator.




A point in rectangular coordinates is given.  Convert the point to polar coordinates.  Show work.
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Convert the rectangular equation to polar form.
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Convert each polar equation to rectangular form. 
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Solve each problem
	20. In competitive accuracy landing, skydiver attempt to land as near as possible to “dead center”, the center of a target marked by a disk 2 meters in diameter. 
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A) Write polar equations representing the 3 target boundaries.


	            B) Graph the equations.
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